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X & 5B =z 5 HHEH
A ol 47,244 45,695 92,939 40,740
X B H 237 221 458 215
B W H 2,028 2,034 4,062 1,649
o &= H 1,825 1,881 3,706 1,660
§ B ® 650 613 1,263 498
E B H 859 918 1,777 752
= E ® 2,165 2,231 4,396 1,962
A W H 932 789 1,721 840
¥ 1u  H 3,143 3,230 6,373 2,520
L dm HY 1,556 1,509 3,065 1,334
A R W 1,378 1,316 2,694 1,191
# | Hr 3,939 3,670 7,609 3,366
dt & H 666 614 1,280 533
JLIGHET (T B) 827 838 1,665 663
# H 784 761 1,545 670
* M H 792 777 1,569 643
FFET(TH) 3,165 3,104 6,269 2,802
— E W 1,282 935 2,217 1,073
¥ BHH 2,727 2,701 5,428 2,134
H* Fx H 1,487 1,401 2,888 1,367
B ¥ A 2,796 2,671 5,467 2,563
B o W 1,596 1,609 3,205 1,409
1# H H 1,214 1,187 2,401 1,017
£ W H 838 825 1,663 739
£ E & 2,148 1,957 4,105 1,956
Bl Rk HT 691 737 1,428 585
&5 B 120 102 222 101
¥ B 381 419 800 340
B AKX H 673 684 1,357 610
S HET(TH) 774 803 1,577 682
=5 £k H 294 276 570 243
= W 476 484 960 409
&= Il H 1,487 1,497 2,984 1,249
E M W 76 82 158 63
X H H 328 359 687 271
# M H 2 3 5 2
FZEET(TH) 2,908 2,457 5,365 2,629




